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Translate the text into English.

At a banquet offered by the Athenians to the Paphlagonian envoys, some Thracians provide
entertainment by performing very elaborate dancing.

émel 8¢ omovdai Te £yEvovTo Kal ématdvioay, dvEéatnoav TpOToV pev Opdkeg Kal TpOg AbAOV
wpxnoavto oLV Toig dmAolg kal fALovTo DYNAA Te Kal KOVPWG Kal Talg paxaipalg éxpdvTo:
TéNog O¢ O ETepog TOV ETePOV TaEL, WG ALY E00KeL TIEMANyEValL TOV &vdpa- 6 8 Emeoe TeXVIKDG
Twe. kai avékpayov ol ITaglayodveg. kai 6 uév okvAevoag td dmAa Tod £tépov £€fet adwv Tov

5  ZurdAkav'- Mot 8¢ Tdv Opax@v TOV Etepov EEtpepov hg TeEBvnkoTar fiv 88 008V emovOwg,.
LeTd TovTo Alvidveg kai Mayvnteg” avéotnoav, ol @pxodvto TV Kapraiav® kaovpévny v
101G 6TAOLG. O 8¢ TPOTIOG TG OpXNOEWS TV, O HEV TTapabépuevog Ta OmAa omeipet kai (evynAartet,
TUKVA 0€ OTPEPOUEVOG WG POPOVHEVOG, ANOTHG 0 Tpooépyetal 6 6 émeldav mpoidntal, dmavtd
apndoag ta Omha kal paxetal Tpod Tod evyous.

Xenophon, Anabasis 6.1.5-8

Yitdkag, O: the Sitalcas (a war song)
Aiviaveg kai Mdyvnreg: Aenianians and Magnesians (two populations)
Kapaia, 1): the carpaea (a dance)
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The translation is assessed in its basic units of clause and sentence. To this end, the original text is
chunked in a fixed number of sections (or “sense units”), 15 at SL and 30 at HL. Every section is
awarded two separate marks according to the two descriptors outlined below.

Each section is awarded 0 to 3 marks for descriptor A (Meaning) and 0 to 3 marks for descriptor B
(Vocabulary & Grammar).

The range of marks for each section is therefore 0 to 6, while the maximum number of marks for the
whole text is 180 at HL (30 sections x 6 marks).

Criterion A (Meaning) assesses how well the meaning of each sense unit has been communicated.

Criterion B (Vocabulary & Grammar) assesses how correctly vocabulary and grammar have been
rendered in relation to each sense unit. The term “grammar” here includes syntax and accidence.

As a guideline, criterion A tends to look at the translation as a whole (eg stylistic, literal and idiomatic
meanings conveyed), while criterion B tends to assess the conformity of the single section with the
original text (eg grammatical accuracy of translation, apparent understanding of source language syntax
and vocabulary).

While it may not always be possible to give the full range of marks for a single sense unit, the range of
marks necessary for differentiation is present over the whole exam.

With reference to the beginning of the Xenophon Greek HL passage, the marking of different translations
sense units énel 8¢ omovdai te £€yévovTo is as follows:

e “When both the libations occurred”: A=3, B=3.

o “After religious activities happened”: A=2 (the meaning has been partially communicated; errors
impair the translation), B=3 (most grammar is rendered accurately).

o “When they were libation makers”: A=3, B=2 (some vocabulary and grammar are rendered
appropriately).

e “There were religious rites”: A=2 (the meaning has been partially communicated; errors impair the
translation), B=1 (the meaning has been partially communicated; limited grammar is rendered
accurately).

e “When pouring out was being”: A=1 (the translation conveys some meaning), B=2 (some vocabulary
and some grammar are rendered appropriately).
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(A) Meaning

How well has the student communicated the meaning of each sense unit?

Marks Level descriptors

0 The work does not reach a standard described by the descriptors below.

The meaning has not been communicated adequately.

1 The translation conveys some meaning; errors impair the translation
significantly.
2 The meaning has been partially communicated.

The translation is mostly logical; errors impair the translation.

The meaning has been fully communicated.
The translation is logical; errors do not impair the translation.

(B) Vocabulary & Grammar

How correctly has the student rendered vocabulary and grammar in relation to each

sense unit?
Marks Level descriptors
0 The work does not reach a standard described by the descriptors below.

Vocabulary and grammar are not rendered adequately.
1 Limited vocabulary is rendered appropriately for the context.
Limited grammar is rendered accurately.

Vocabulary and grammar are rendered adequately despite
inaccuracies.

Some vocabulary is rendered appropriately for the context.
Some grammar is rendered accurately and effectively.

Vocabulary and grammar are rendered correctly.
3 Most vocabulary is rendered appropriately for the context.
Most grammar is rendered accurately and effectively.
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Text A B
1.  émei 8¢ omovdai te €yévovto
2. xal émouavioayv
3. d&véotnoav mpodTOV pEV Opdkeg
4. xal mpog adAOV dPXHOAVTO GVV TOIG OTAOLG
5. xai fAAovTO DYNAQ Te Kal KOVPWG
6.  Kai Taig payaipatg £€xpovTo
7. Téhog 8¢ O £Tepog TOV ETepOV Taiel
8.  w¢maoLv £¢60kel
9.  memAnyéval TOv dvépa
10. 0690’ &neoe TEXVIKDG WG
11. kol avéxpayov oi ITagrayodveg
12.  xai 0 pév okvlevoag Ta Omha ToD £TépOv
13.  &Efet adwv Tov Zitdhkay
14. 3&\\ot 8¢ T@v Opakdv
15. 1oV Etepov EEépepov
16. g tebvnrodTa
17.  1jv 8¢ o0dev memovOwg
18. peta todto Aividaveg kai Mdayvnteg dvéotnoav
19. ol wpxoOVTO TRV Kapmaiay KAANOVUEVNV
20. ¢év Toic Omholg
21. 6 8¢ TpoTOG TG OpXNOEWS NV
22. 0 pev mapabépevog ta OmAa
23. omeipel kai evynAatel
24. mokva 0¢ oTpEPOUEVOG
25. @G @oPovpevog
26. Anotng 6¢ mpooépyeTat
27. 00’ énedav mpoidnrat
28. amavta
29. dapndoog T& Omha
30. kai pdyetat mpod Tod {evyoug

90 | 90

Total 180
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Section A
Answer all questions on four extracts taken from two options studied.
Option A: Homer

Extract 1 Homer, lliad 22.1-17

G ol pév katd dotv mepuloTeg nite vefpol
0p® ameyvyovto miov T dkéovTo Te Siyav
KeKALHEVOL KaAfjoty Emaleoty: avtap Axatol
Teiyeog dooov ioav odke’ OUOLOL KAIVAVTEG.
5 “Extopa §’ avtod peivat OAotn poipa médnoev
‘TAiov mpomapotBe mMuAdwv Te ZKatdwy.
avtap IInkeiwva mpoonvda Poifog AmoAwv-
“tinté pe IInAéog vie mootv Tayéeoot Slwkelg
avTog OvnTog €wv Beov uPpoTov; o0dE VU Tw e
10  &yvwg wg Bedg e, o0 & domepxEG Leveaivelg.
1 v0 ot o0 Tt péhet Tpwwv movog, obg £popnoag,
ol 81} ToL €ig doTv &Aev, oV 8¢ dedpo Adodng.
0V UEV e KTEVEELG, £TEL OV TOL LOPOLUOG el
Tov ¢ péy’ oxOnoag mpooéen modag kLG AytAAedg:
15  “EPhayag p’ éxdepye Oedv dOhowTaTE TAVTWY
¢vBade vOV Tpéyag ano teixeoc N k™ €Tt ToANol
yaiav 084€ eihov mpiv "Thiov eicagukcéodat.

1.  (a) Scan ®golpev ... diyav (lines 1-2). [2]

(b) Explain the significance of this encounter, supporting your answer with a comparison
from other battlefield encounters between mortals and immortals in the prescribed
reading from the lliad. [2]

(c) TimTé pe ... popoudg i (lines 8-13). Referring closely to the Greek, give three ways
in which Homer’s literary art portrays the contrast between Apollo and Achilles. [3]

(d) Translate €pAaydg ... eicagéodal (lines 15-17). [3]
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Option A: Homer

Extract 2

(b)

(c)

Homer, lliad 6.144-159

Tov &’ adB’ Tnmoloyoto mpoonvida gaidipog viog:
145  “Tvdeidn peydbope Ti ) yeveny €pecivelg;
oin mep UMWV yever) toin O¢ kal avep@v.
@UAa TA €V T7 dvepog xapadic xéet, dAla 6¢ 6 UAn
tAeBowoa oeL, Eapog &’ Emyiyvetat dpn-
WG &vOp@V yeven i Hev @uet i} & dmoAnyet.
150 &l 8’ €0éheig kal Tadta Sanpevatl d@p’ €D €idfig
fHeTEPNV YeVENY, TOANOL &€ v &vdpeg loaotv-
€0t TOAG EQUpn pox® Apyeog inmofototo,
€vBa O¢ Ziovgog Eokev, O képSLOTOG YEVeT ™ AvEp@v,
Yiovgog AloAidng 6 & dpa I'hadkov Téked’ vidv,
155  avtap Mhadkog tiktev dpopova BeAkepopovtny:
T® O¢ Oeol KAANOG Te Kal fVOpENV EpaTeLvijy
omacav- avtap ot ITpoitog kaka unoato Quud,
66 P’ €k drjpov ENacoev, Emel TOAD QEPTEPOG eV,
Apyeiwv- Zebg yap ol U1o okNITpw Edapacoe.

¢émel TOAD @épTepog nev (line 158): give two ways in which the story that unfolds after
this extract casts this description of Proetus into doubt. [2]

Give two ways in which the gods related to the heroes mentioned in this extract.
Support your answer by quoting the Greek text. [2]

Todeidn ... amoAnyel (lines 145-149): analyse the central simile in these lines,
discussing it both as a rhetorical device and in relation to its content. Support your
argument by quoting the Greek text. [6]

Turn over



-4 - SPEC/2/GREEK/HP2/ENG/TZ0/XX

Option B: History

Extract 3 Herodotus, 7.2.2-3.2

10

(@)

(b)

(c)

(d)

noav yap Aapeiw kal tpdtepov fj facidedoat yeyovoTeg Tpeig maideg €k TG TPOTEPNG YLVAKOG,
ToPplew Buyatpog, kai facthevoavtt ¢§ Atdoong tijg Kbpov étepot Téo0epeg. T@V pev O
npotépwv EnpéoPeve Aptofalavng, Twv Ot émyevouévwv E€pEng. €0vteg 8¢ untpoOg ol TiG
avtiig éotaoialov, 6 pev AptoPalavng katdtt mpeoPutatdq Te ein mavtog Tod yovou Kal dtt
vopu{opevov ein mpog mavtwy avBpdmwy Tov peoPitatov Ty apxny €xetv, E€pEng 6 w¢
Atooong te maig gin g Kbpov Buyatpog kat 6t Kbpog €in 6 ktnodpevog toiot [Téponot thv
g\evBepiny. Aapeiov 8¢ 00K AMOJEIKVUIEVOL KW YVWUNY, ETVYXAVE KATA TOVTO TOVTOLOL Kal
Anuépntog 6 Apiotwvog avaPePnrwg ¢ Xodoa, E0Tepnuévog Te TG &v Znaptn Pactining kai
QUYNY EmPod®V EwLT® €k Aakedaipovog. 00Tog Wvip TBopevog T@V Aapeiov maidwv v
Stagopniv, ENBV, wg 1 @atic piv éxel, Zép&n ovvePovAeve Aéyetv Tpog Toiot ENeye Emeat, WG adTOG
Hev yévorro Aapeiw fdn Pacthevovtt kai Exovtt T0 Ilepoéwv kpdtog, AptoPalavng 6¢ €Tt idiwn
E0vTL Aapeiw.

noav yap ... tov 8¢ émyevouévwv Eépéng (lines 1-3). What is the difference in birth
between Artobazanes and Xerxes? [2]

Kbdpog €in 6 ktnodpevog toiot [Igponot v élevbepiny (lines 6-7). From whom did
Cyrus obtain freedom for the Persians and around which point in history did this occur?  [2]

Translate Aapeiov 6¢ ... éx Aakedaipovog (lines 7-9). [3]

o0TOG WVNP ... £0vTL Aapeiw (lines 9—12). Who suggests a way to distinguish between
Xerxes and Artobazanes as the appropriate successor? Referring closely to the text,
what is the method of distinction? [3]
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Option B: History

Extract 4 Herodotus, 7.12.1-13.3

10

(@)

(b)

(c)

vukTi 8¢ PovAnv S1dovg mayxv ebpioké oi ob mpiypa eivan otpatevecBat émi Ty EANGSa.
dedoyuévav 8¢ of adTIg TOVTWY KATVTIVWOE, Kai 81} Kov €v Ti] vukTi €l8e Syt Touvde, wg
Aéyetar Vo Tlepoéwv- 0okee O EépEng dvdpa ol émotdvTta péyav te kai eveldéa eimeiv “peta

O BovAeveat, ® ITépoa, otpdtevpa pn dyetv émt v EANGSa, mpoeinag dilewv ITépoag otpatodv;
oUte OV petaPovlevdpevog oLéelg €0 oUTe O OVYYVWOOEVOG ToL TTapa: AN’ doTep TiG

Huépng éBovAedoao motéety, Tavtny 0L TV 68OV TOV uEv TadTta eindvta édokee O Eépéng
amontdoBal, nuépng 6¢ EmAapuydaong dveipov pev TovToL Adyov obdEva émotéeTo, O O¢ Iepotwv
ovvalioag Tovg kal TpoTepoV ovvéede, ENeEé gL Tdde. “avdpeg ITépoat, ouyyvwuny pot

gxete OTL AyxioTpoga PovAevopal @pevdV Te Yap ¢ Ta EpewvTod TP@TA OVKW VKW, Kol

ol TTapnyopeOUEVOL EKETVA TTOLEELY ODOEVA XPOVOV LEL ATEXOVTAL AKOVOAVTL LEVTOL oL THG
Aptapdavov yvwung mapavtika pév 1y vedtng éméleoe, dote detkéotepa amoppivat émea € &vopa
TpeoPUTEPOV [} XPEOV- VDV HEVTOL OVYYVOLG Xprioopat Tfj €Kelvov yvwurn. ®¢ @V petadedoyuévov
ot pun otpatevecBat €mt trv EANGda, flovyol éote”

WG @V ... flovyot éote (lines 12-13). What happens next in the narrative to change
Darius’s mind about the invasion of Greece? [2]

avopeg [Tépoar ... mpeaPutepov fj xpeov (lines 8—12). Quoting from the Greek text, how
does Xerxes characterise himself in this passage? [2]

Briefly describe Xerxes’s dream. Analyse the dream as an example of Herodotus’s use
of dreams and/or divine knowledge as a narrative device in the prescribed reading from
The Histories. [6]

Turn over
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Option C: Tragedy

Extract 5

(b)

(c)

(d)

Euripides, Hippolytus 616—637

 Ze, Ti 81 kifdnlov avBpwmoLg kakov
yovaikag G ¢ HAiov KaTWKLoag;

el yap Bpotelov fibeleg oneipat yévog,
OVK €K YUVaIK@V Xpfiv mapaoxéabat 100¢,

620 A&AN’ avtiBévtag ooioty év vaoig fpotolg
1] XaAkov 1j aidnpov fj xpvood Papog
naidwv mpiacBat oméppa TOL TIUARATOG,
TG &&iag ékaotov, év 8¢ dwuaoty
vaiety éhevBépoiot OnAeldv drep.

625 VOV’ &g dopovg pev mpdtov dfecbat kakov
péAovTeG OAPoV dwudTwy EKTivouey.
ToUTw O¢ A0V WG YVLVI] KAKOV péya:
npoobelg yap O omeipag te kai Opéyag matnp
PEPVAG ATWKLO , WG amaAlaxO1j kakoD.

630 08" av AaPwv &tnpov £¢ SOpOVGE GUTOV
Y€ynOe koopoV MpooTiBelg AydApatt
KAAOV KaKIOTW Kal TETAOLOLY EKTTOVET
Svotnvog, OAPov Swpdtwy vre§eAdv.
gxetd’ avayknv- ®ote kndevoag KaAdg

635 yapPpoiot xaipwv o@letal mkpoOV Aéxog,
fj xpnota Aéktpa mevhepos 8 dvwpeleig
AaPav mélet téyadd 10 SuoTuyEs.

Scan @ Zeb ... kat@kioag (lines 616-617).

Referring to the text, discuss the rhetorical nature of Hippolytus’s rant about women in
this monologue.

Translate toOtw 6¢ ... kakod (lines 627-629).

Quoting from the Greek text, give three words or phrases that contribute to the
oratorical nature of the extract.

[2]

[2]
[3]

[3]
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Option C: Tragedy

Extract 6

6. (a)

(b)

(c)

Euripides, Electra 11-30

X pev makaud okfnrpa Tavralov Aimav
SAwAev, Atyobog d¢ Baothedel xBovog,
dAoyov €keivov Tovdapida kOpnv Exwv.

00G 8 €v dopototy ENg” 6T €6 Tpoiav Emhet,

15 dpoeva v Opéotnv 070 T 'HAéktpag Odlog,
TOV HEV TTIATPOG YEPALOG EKKAETITEL TPOPEDG
HEAovT’ Opéotny xepog U™ AlyioBov Bavelv
Ztpogiw T Edwke Qwkéwv £G YV TpEPELV-:

] & év dopoig Epervev HAéxTpa matpdg,

20 tavTny €medn Balepog eix’ 1iPng xpovog,
nvnotipeg frovv EANadog mp@tot xBovag.
deioag O0¢ pr Tw maid’ dploTEéWV TEKOL
Ayapépvovog motvdtop’, eixev €v dopoLg
Afyi0006 008 fippole vouiw Tuvi.

25 émel 8¢ kal ToOT’ NV oPov moAod mAéwv,
1 Tw AaBpaiwg tékva yevvaiw TéKol,
KTavelv o@e fovdedoavTtog, OHOPpwV SUwg
HRTnp viv é§éowaev AiyioBov xepo.
&G Hev yap dvdpa okiyty e’ 0OAwAoOTa,

30 maidwv &’ €detoe pn pBovnbein govw.

nahawa okfmtpa Tavtalov (line 11). What is the significance of this mention of
Tantalus’s sceptre? Give two details. [2]

What is the nature of Aegisthus’s worry about Electra’s future? Support your answer by
referring to the tale of the House of Atreus. [2]

Analyse the extract, showing how Euripides’s literary art supports his depiction of death
and birth. (6]

Turn over



Option D: Agon

Extract 7

(b)

(c)
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Aristophanes, Frogs 830-850

830 EY.
AIO.
EY.

835 AIO.
EY.

840 AIZ.
AIO.

845 AIZ.
AIO.
AlX.

850

ovk av pebeipnv Tod Opovov, un vovbeTeL
KPEITTWV Yap eivai L TovTov THV TEXVNV.
AioyxO\e ti otydc; aioBdvet yap Tod Aoyov.
ATOCEUVUVEITAL TIPOTOV, dTTEP EKACTOTE
v TaiG Tpaywdialoly ETepaTeVETO.
@ Saupove’ avdp@v pny peydha Aiav Aéye.
¢ywda TodTov Kai Stéokeppat Tala,
avOpwmov dyptomolov avBaddoTtopov,
EXOVT™ AXAALIVOV AKPATEG ATTOAWTOV OTOUA,
AmepIAAANTOV KOUTOQAKEAOPPTLOVAL.
dAnBeg @ mai TAg apovpaiag Beod;
oL O pe TadT’ @ OTWHLALOOVANEKTASN
Kal TTWYOTOLE Kol PAKIOGVPPATITAdN;
AN oD Tt xaipwv ot €pelG.

nod’ Aloyvle,
Kal ) Tpog dpynv omAayyva Beppurivng KOTw.
oV dfta mpiv y* v TodTOV dmo@rivw capig
TOV YwAoToLov oiog v Bpacvvetal.
dpv’ dpva pélava maideg é€evéykare:
TVPWG yap ExPaiverv Tapaokevaletal.
@ Kpntikdg pev ovAéywv povwdiag,
yapovg 8° Avooiovg E0@Epwy £G THV TEXVNV.

ovk &v pebeipnv tod Bpovov (line 830). What is Euripides referring to?

Explain the derogatory reference to Kpnrikag ... povwdiag (line 849).

Identify the main stylistic features of this “contest”. Analyse the extract, supporting your

argument with details from the Greek text.

[2]

(2]

[6]
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Option D: Agon

Extract 8 Thucydides, 3.53.1-3

8. (a)

(b)

(c)

(d)

“tnv pev mapddootv Tig moAews, @ Aakedatpoviot, moteboavteg DUV énomoapeda, o Totdvde
Sixnv oidpevol Véety, voupwtépay 8¢ tiva éoeobat, kai v Sikaotaig ovk dv dAloig defdpevol,
woTep Kal EouV, yevéohat, Nyovpevol To ioov paiiot’ av eépecat. vov 8¢ goPfodueda pn
AUPOTEPWV EpA MHAPTAKALEV: TOV TE Yap AyDVa TIEPL TOV SEVOTATWY elval eiKOTWG DTTOTTTEVOEV
Kal DUAG pur) 00 Kolvol AmoPfTe, TEKHapOUEVOL TPOKATNYOPLAG Te IUDV OV TIPOYEYEVNHEVNG

1 xpn dvteueiv (AN avtol Adyov ftnodpeda) 6 te énepwtnua Ppaxd 6v, @ té pgv dAnoi
amokpivacOau évavtia yiyvetatl, T 6¢ Yyevdi Eleyxov €xel. mavtaxobev 8¢ dnopot kabeot®Teg
avaykalopeda kai doaéotepov Sokel eivat eimovtag Tt kivduveetv: kal yap 6 un pndeig Adyog
T0l¢ @8’ €xovowy aitiav &v mapdoyot we, ei EAéXON, owtnplog &v fv.”

Outline the context of this speech. [3]
Translate tov te yap dydva ... avtemeiv (lines 4-6). [3]

16 Te énepwnpa Ppayxd dv (line 6). Why should this way of questioning be dangerous
for the person questioned? [2]

Explain why the speakers consider an articulated speech to be the safest course in this
dangerous situation. [2]

Turn over
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Option F: Scientific knowledge

Extract 9
>Q.
5
QAL
>Q.
10
QAL

Plato, Phaedrus 278b-d

ovkoDV 1jén menaioBw petpiwg Nuiv T mept Adywv: kai v te ENOWV @pale Avoig Tt v
Katafavte €6 10 Nopedv vaud te kai povoelov nrovoapev Aoywv, ot EénéoteAlov Aéyewv
Avoia te kal &l Tig GANog ouvTtiOnot Adyoug, kai Ourpw kai €l T1g GAAOG ad Toinotv YNy

1 €v @07 ovvTédnke, Tpitov 8¢ ZOAwVL Kal GO TIG €V TTOALTIKOIG AOYOLS VOpOVG OVOUAlwY
ovyypappata Eypayev- ei pev eidwg 1 tO dAn0Eg Exel ouvédnke Tadta, kai Exwv Pondety, €ig
Eleyxov lwv mept v Eypaye, kai AEywv adTog Suvatog Ta yeypappéva @adia drodeiat, ob
Tt TOVSe Emwvopiav Exovta Oel Aéyeaat TOV TolodTOV, AN €@ 0ig éomovdakev Ekelvwy.
Tivag oDV TG EMWVLHLAG AVTD VEUELG;

TO pev 0oV, @ Daidpe, kahely Euotye uéya etvar dokel kai Oe® povy mpémetv- 10 O¢ 1y
QLLOT0POV T} TOLODTOV Tt HAAAGV TE &V adT® Kol APHOTTOL Kal EUUEAETTEPWG EXOL.

Kal o0dév ye amod TpoTmovL.

9. (a) e&l1gdANogovvtiOnot Adoyoug (line 3). Who are the persons mentioned here, and what
is their aim, according to Socrates? [2]

(b)  What do Lysias, Homer and Solon have in common according to Socrates? [2]

(c) xaiAéywv advtog ... dnodeifa (line 6). Explain the meaning of these words, making
reference to a topic previously dealt with in the prescribed reading from Phaedrus (a
mere translation is not acceptable). [3]

(d) Translate t0 puév co@ov ... €ot (lines 9-10). [3]
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Option F: Scientific knowledge

Extract 10 Hippocrates, Air, Waters and Places 8

10

TadTa pEV €0TLY dploTa KaTd TO €ik0g. deital 8¢ apéyeoBal kal anoonnecBat- i 8¢ un,
odunv loxet movnpny kal Ppayxogs kai Pixes kai Papvewvin Toig mivovol mpooioTatat. Ta
8¢ amod x16vog Kkal KpLoTAA WY ToVNPA TTavTa. OkOTAY yap dmaf mayf, ovk €Tt &g THv
apxainv @vow kabiotatat, AAAG TO pEV adTOoD Aapmpov kai koD@ov kal YAvkD ékkpivetal
Kal agaviCetat, 10 8¢ Bolwdéotarov kai otabuwdéotatov Aeinetat. yvoing 6’ &v @de- &l
yap BobvAel, dtav 1) Xelpwy, €6 dyyeiov peétpw £yxéag V8wp Beival é¢ v aibpiny, iva mhfetat
HaAloTa, Emerta Tf] VoTepain éoeveykav €G AAénv, 6xov xaldoetl HdAloTa 6 TayeTdg, OKOTAV
8¢ M1, avapetpeiv 10 DOwp, ebpnoelg EAacoov cvxVd. TODTO TEKUNPLOV, OTL LTTO TG
mlog agavifetat kat dvagnpaivetal 10 KOVPOTATOV Kal AemtoTATOV, 0V TO Papvtatov kai
TaxLTATOV: 0V yap &v duvatto. tadTtn ovv vopilw movnpodtata tadta td Véata eivat T &4mod
X1OVOG Kal KpLOTAAAOL Kal Ta ToD ToLoLy EMopeva PO dmavTta XpriHata.

Why is the quality of the water from ice so bad for all purposes? [2]
What is the conclusion of the experiment described in lines 5-8 (&i yap ... ovxv®)? [2]

Identify the main stylistic features of Hippocrates’s scientific writing. Analyse the
extract, supporting your argument with precise details from the Greek text. [6]

Turn over
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Section B
Give a written response of indicatively no more than 300 words based on any one of the following

prompts. Your answer should demonstrate your understanding of the prescribed authors,
knowledge of broader contexts, and critical analysis. [12]

Option A: Homer

11. The epic hero must die.

Option B: History

12. The way in which the historian presents sources affects our perception of reliability.

Option C: Tragedy

13. Tragedy presents individuals as better than they are.

Option D: Agon

14. Agon is both confrontation and competition.

Option F: Scientific knowledge

15. Scientific knowledge reflects the culture of its times.
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Section A

Option A: Homer

Extract 1

1. (a
(b)
()
(d)

Homer, lliad 22.1-17

Mark only for length of syllables. Award [1] per line if all correct, no mark otherwise.

Encounters between gods and heroes on the battlefield highlight the disparity between
mortals and immortals, or similar answer on its merits [1]; award [1] for mention of any such
encounters from the lliad (eg Diomedes and Aphrodite, Diomedes and Ares, Patroclus and
Apollo, etc).

Award [1] each up to [3] for any of the following: use of epithet IInA¢og vi¢ is Homeric/epic
technique and here highlights Achilles mortal nature by emphasizing his father; juxtaposition
of descriptors (eg avtog Ovntog éwv Beov duPpotov); antithesis between first and second
persons (eg 0edg i, o0 & domepxeg peveaivelg); final position or emphasis/use of diction
that serves the contrast (eg o0 tot LOpOIpOG €ipt).

Any other answer on its merits.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if the
meaning has not been communicated adequately, and vocabulary and grammar are not
rendered adequately. Award [0] if the work does not reach a standard described by the
descriptors above.

Total: [10]
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Option A: Homer

Extract 2

2. (@
(b)
(©)

Homer, lliad 6.144-159

It becomes doubtful that Proetus can be stronger/more powerful than Bellerophon [1] when
the young hero defeats monsters like the Chimaera [1].

The gods gave Bellerophon virtue/strength and beauty (kdAAog Te kai fvopénv €patetviv
onaoav) [1]; Zeus gave kingly power to Proetus (Zevg ydp oi O1o okAntpw édapacoe) [1].

This simile portrays the fleeting nature of human life through images from nature. Accept a
range of substantiated answers, awarding [1] up to [4] for any appropriate remark (with
quotation from the Greek text) on this theme and on the role of similes in the Homeric epic.

Quotes from the text may include: comparison between men and plants: gOMwV ... avdpdv;
the roles of wind and wood: &vepog ... UAn; spring season as additional detail: €apog ... @dpn;
men spring up and pass away: fi peév @vet fj 8 dnoAnye, like the leaves are scattered and
generated anew: gUA\a ... QUEL

Award up to two marks for the coherence and clarity of the argument: [2] if very coherent and
well-argued; [1] if coherent and well-argued; [0O] if incoherent and poorly-argued or if no
details from the text are given.

Total: [10]
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Option B: History

Extract 3

3. (@
(b)
(©)
(d)

Herodotus, 7.2.2-3.2

The two men are from different mothers [1] and from different stages in Darius’s ascent to
power [1].

Cyrus gained freedom for the Persians from the Medes/Croesus [1] in the middle of the 6th
century BCE (accept a range of reasonable answers within the 6th century BCE) [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if the
meaning has not been communicated adequately, and vocabulary and grammar are not
rendered adequately. Award [0] if the work does not reach a standard described by the
descriptors above.

Damarates the Spartan suggests the means [1] by pointing out that Artobazanes was born
while Darius was still under the imperial power of the Medes [1], but Xerxes was born after
Darius had conquered and subdued the Medes [1].

Total: [10]
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Option B: History

Extract 4

4., (a)
(b)
(©)

Herodotus, 7.12.1-13.3

The dream reappears the following night [1] with the threat that should Xerxes not set out on
the expedition, his rule will end quickly [1].

Award [1] each for any two characteristics substantiated by direct quotation of the passage.
These can include: not yet come to fullness of mind, or similar (ppevdv ... dviikw); youthful

(1) veotnq); “boiling” and “bursting out” (éméleoe ... dmoppiyad).

Accept a range of substantiated answers, awarding [1] for the description of the dream as a
young man; and [1] up to [3] for any appropriate remark related to the truth and difficulty in
interpreting oracles and visions.

Award up to two marks for the coherence and clarity of the argument: [2] if very coherent and
well-argued; [1] if coherent and well-argued; [0O] if incoherent and poorly-argued or if no
details from the text are given.

Total: [10]
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Option C: Tragedy

Extract 5

5 (@
(b)
(©)
(d)

Euripides, Hippolytus 616-637

Mark only for length of syllables. Award [1] per line if all correct, no mark otherwise.

Award [1] each up to [2] for any of the following vivid examples mentioned given by
Hippolytus: the buying of children from the temples, women as a bane to get rid of, or
worthless as statues.

Any other answer on its merits.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if the
meaning has not been communicated adequately, and vocabulary and grammar are not
rendered adequately. Award [0] if the work does not reach a standard described by the
descriptors above.

Award [1] each up to [3] for any of the following: beginning with a question: @ Zeb ...
Katwkloag; presenting a false dilemma/condition with response: i yap ... dtep; using logical

connectors: i yap, vov de, @oTe, etc; using rhetorical figures such as alliteration, assonance,
hyperbole, etc.

Any other answer on its merits. Award no mark without quotations from the Greek
text.

Total: [10]



-7 - SPEC/2/GREEK/HP2/ENG/TZ0/XX/M

Option C: Tragedy

Extract 6

6. (@
(b)
(©)

Euripides, Electra 11-30

Award [1] each for any two responses addressing the relationship of Tantalus to the House
of Atreus or of Tantalus and his crime against the gods.

Award [1] for any appropriate remark related to Electra as the potential mother of an avenger
of Agamemnon and the cycle of violence that pervades the House of Atreus.

Accept a range of substantiated answers related to the passing of generations, (premature)
deaths and births as a source of menace, awarding [1] each up to [4] for any stylistic device

such as: assonance: tékva ... Tékoy; alliteration: moAAod mAéwv; diction/word play: OfA0 ...
Balog; antithesis through word-placement: Baveiv with Tpégetv.

Award up to two marks for the coherence and clarity of the argument: [2] if very coherent and
well-argued; [1] if coherent and well-argued; [0O] if incoherent and poorly-argued or if no
details from the text are given.

Total: [10]



-8- SPEC/2/GREEK/HP2/ENG/TZ0/XX/M

Option D: Agon

Extract 7

7. ()
(b)
(©)

Aristophanes, Frogs 830-850

The seat next to Pluto [1], where the best man in his own field of art sits [1].

It refers to Euripides’s well known musical [1] eclecticism [1].

Accept a range of substantiated answers, awarding [1] up to [4] for any appropriate remark
related to the structure and general characteristic of “agon” scenes, and peculiarities of

language such as: use of compound words: ayptomotov, avfaddotopov, etc; privative alpha
epithets: axdAivov dxpatég dmvlwtov, etc; abusive language: otwpvALOGVANEKTAST),

TITWYOTOLE, paktoovppantadn, etc; emphatic repetition of dpv’ dpva (related to comical role
of Dionysus).

Award up to two marks for the coherence and clarity of the argument: [2] if very coherent and
well-argued; [1] if coherent and well-argued; [0O] if incoherent and poorly-argued or if no
details from the text are given.

Total: [10]


http://www.perseus.tufts.edu/hopper/morph?l=a%29griopoio%5Cn&la=greek&can=a%29griopoio%5Cn0&prior=a%29/nqrwpon
http://www.perseus.tufts.edu/hopper/morph?l=au%29qado%2Fstomon&la=greek&can=au%29qado%2Fstomon0&prior=a%29griopoio%5Cn
http://www.perseus.tufts.edu/hopper/morph?l=a%29xa%2Flinon&la=greek&can=a%29xa%2Flinon0&prior=e%29/xont%27
http://www.perseus.tufts.edu/hopper/morph?l=a%29krate%5Cs&la=greek&can=a%29krate%5Cs0&prior=a%29xa/linon
http://www.perseus.tufts.edu/hopper/morph?l=a%29pu%2Flwton&la=greek&can=a%29pu%2Flwton0&prior=a%29krate%5Cs
http://www.perseus.tufts.edu/hopper/morph?l=stwmuliosullekta%2Fdh&la=greek&can=stwmuliosullekta%2Fdh0&prior=w%29=
http://www.perseus.tufts.edu/hopper/morph?l=ptwxopoie%5C&la=greek&can=ptwxopoie%5C0&prior=kai%5C
http://www.perseus.tufts.edu/hopper/morph?l=r%28akiosurrapta%2Fdh&la=greek&can=r%28akiosurrapta%2Fdh0&prior=kai%5C
http://www.perseus.tufts.edu/hopper/morph?l=a%29%2Frn%27&la=greek&can=a%29%2Frn%270&prior=*dio/nusos
http://www.perseus.tufts.edu/hopper/morph?l=a%29%2Frna&la=greek&can=a%29%2Frna0&prior=a%29/rn%27
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Option D: Agon

Extract 8

8. (a
(b)
(©)
(d)

Thucydides, 3.53.1-3

A good answer should explain that the Plataeans are stating their case [1] before the
Lacedaemonian judges [1] after the surrender of their city [1].

Any other answer on its merits.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if the
meaning has not been communicated adequately, and vocabulary and grammar are not
rendered adequately. Award [0] if the work does not reach a standard described by the
descriptors above.

A true answer can be counterproductive [1]; a false one can be contradicted [1].
The main idea is that a speech not uttered [1] might have saved them [1].

Total: [10]
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Option F: Scientific knowledge

Extract 9

9. (@
(b)
(©)
(d)

Plato, Phaedrus 278b—d

The rhetors [1], who aim at persuading [1] their audience.

Award [2] for any answer that highlights the difference between knowing, and not knowing,
the truth about the subject they discuss. [1] only for partial answers.

Written words are of little worth because they cannot defend themselves. The reference is to
the legend of the god Theuth who gave king Thamus the gift of writing. But writing is only a
reminder with the appearance of wisdom. Award [1] for any explanation along these lines.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if the
meaning has not been communicated adequately, and vocabulary and grammar are not
rendered adequately. Award [0] if the work does not reach a standard described by the
descriptors above.

Total: [10]



-11- SPEC/2/GREEK/HP2/ENG/TZ0/XX/M

Option F: Scientific knowledge

Extract 10 Hippocrates, Air, Waters and Places 8

10.

@)

(b)
(©)

Its clear/light/sweet/thin component is separated/disappears [1] while the turbid/heavy
component is left behind [1].

The process of freezing [1] diminishes the quantity [1] of the water.

Accept a range of substantiated answers, awarding [1] up to [4] for any remark

such as: use of lonic dialect (with any relevant example); literary, not spoken language;
polysyndeton: kai Bpdyxog kai fixeg etc; omission of verb: Ta 8¢ o x16vog kal KpLOTAAAWY
novnpd mavta; use of second person: yvoing &’ &v ®de etc; especially when introducing
hypotheses.

Award up to two marks for the coherence and clarity of the argument: [2] if very coherent and
well-argued; [1] if coherent and well-argued; [0O] if incoherent and poorly-argued or if no
details from the text are given.

Total: [10]


http://www.perseus.tufts.edu/hopper/morph?l=kai%5C&la=greek&can=kai%5C37&prior=ponhrh%5Cn
http://www.perseus.tufts.edu/hopper/morph?l=bra%2Fgxos&la=greek&can=bra%2Fgxos0&prior=kai%5C
http://www.perseus.tufts.edu/hopper/morph?l=kai%5C&la=greek&can=kai%5C38&prior=bra/gxos
http://www.perseus.tufts.edu/hopper/morph?l=bh%3Dxes&la=greek&can=bh%3Dxes0&prior=kai%5C
http://www.perseus.tufts.edu/hopper/morph?l=ta%5C&la=greek&can=ta%5C4&prior=prosi/statai
http://www.perseus.tufts.edu/hopper/morph?l=de%5C&la=greek&can=de%5C16&prior=ta%5C
http://www.perseus.tufts.edu/hopper/morph?l=a%29po%5C&la=greek&can=a%29po%5C4&prior=de%5C
http://www.perseus.tufts.edu/hopper/morph?l=xio%2Fnos&la=greek&can=xio%2Fnos1&prior=a%29po%5C
http://www.perseus.tufts.edu/hopper/morph?l=kai%5C&la=greek&can=kai%5C40&prior=xio/nos
http://www.perseus.tufts.edu/hopper/morph?l=krusta%2Fllwn&la=greek&can=krusta%2Fllwn0&prior=kai%5C
http://www.perseus.tufts.edu/hopper/morph?l=ponhra%5C&la=greek&can=ponhra%5C0&prior=krusta/llwn
http://www.perseus.tufts.edu/hopper/morph?l=pa%2Fnta&la=greek&can=pa%2Fnta1&prior=ponhra%5C
http://www.perseus.tufts.edu/hopper/morph?l=gnoi%2Fhs&la=greek&can=gnoi%2Fhs0&prior=lei/petai
http://www.perseus.tufts.edu/hopper/morph?l=d%27&la=greek&can=d%270&prior=gnoi/hs
http://www.perseus.tufts.edu/hopper/morph?l=a%29%5Cn&la=greek&can=a%29%5Cn1&prior=d%27
http://www.perseus.tufts.edu/hopper/morph?l=w%28%3Dde&la=greek&can=w%28%3Dde1&prior=a%29%5Cn
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Section B

Instructions
Section B is assessed by the assessment criteria found below and published in the subject guide.

Criterion A (Range of evidence) assesses to what extent the evidence represents both prescribed

passages and supplementary reading. A candidate is expected to:

¢ use relevant examples from the prescribed passages to support the response (candidates are not
expected to provide exact quotes)

o demonstrate knowledge of historical, political and cultural contexts beyond those embedded in the
prescribed passages.

Criterion B (Understanding and argument) assesses how well the response demonstrates understanding
of the chosen option. Ideally, a candidate will:
o build a critical analysis that responds directly to the prompt in a clear, logical and imaginative way
o fully address the contexts and background knowledge pertinent to the examples related to the chosen
option.
Total: [12]

Criterion A: Range of evidence
e To what extent does the evidence represent both prescribed passages and supplementary reading?

Marks Level descriptor

0 The work does not reach a standard described by the descriptors below.

1 The response includes weak evidence from the prescribed passages only.

2 The response includes specific evidence from the prescribed passages only.

3 The response includes evidence from both the prescribed passages and
supplementary reading.

4 The response includes specific evidence from both the prescribed passages
and supplementary reading.
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Criterion B: Understanding and argument

¢ How well does the response demonstrate understanding of the chosen option?
o How well is the argument constructed?

Marks Level descriptor
0 The work does not reach a standard described by the descriptors below.
1-2 The response demonstrates a limited understanding of the chosen option
without addressing contexts and background knowledge pertinent to the
examples.

The argument has limited focus, coherence and development.

34 The response demonstrates limited understanding of the contexts and
background knowledge pertinent to the chosen examples.
The argument has focus but has limited coherence and is not developed.

5-6 The response demonstrates an understanding of the chosen option by
addressing contexts and background knowledge pertinent to the examples in a
limited way.

The argument has focus and coherence but is not developed.

7-8 The response demonstrates an understanding of the chosen option by
addressing contexts and background knowledge pertinent to the examples.
The argument has focus and coherence, and is developed.
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Translate the text into English.
Xenophon sets out to dissuade his troops from sacking Byzantium, a city allied with the Spartans.
“OtLpgv 0pyiCeabe, @ dvdpeg otpatidtal, kal vopilete detva maoyewy é§anatwuevot od Bavpalw.
v 6¢ 1@ Bvpd xaplwpeda kat Aakedalpoviovg Te ToOG TapoVTag TG E§amatng Tipwpnowpeda
Kal TNV oA TNV 00dEV aitiav Stapmdowyev, évOupeiole & Eéotat évtedOev. moAépol uev éoopeba
amodedetypévol AakeSalpoviols kai TolG CLUAXOLG. 0i0g 8¢ TOAe0G &V yévorto eikalety 8
5 TAapeoTLy, Eopakotag Kal avapvnodévtag ta vov O yeyevnuéva.”

Xenophon, Anabasis 7.1.25-26
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The translation is assessed in its basic units of clause and sentence. To this end, the original text is
chunked in a fixed number of sections (or “sense units”), 15 at SL and 30 at HL. Every section is
awarded two separate marks according to the two descriptors outlined below.

Each section is awarded 0 to 3 marks for descriptor A (Meaning) and 0 to 3 marks for descriptor B
(Vocabulary & Grammar).

The range of marks for each section is therefore 0 to 6, while the maximum number of marks for the
whole text is 90 at SL (15 sections x 6 marks).

Criterion A (Meaning) assesses how well the meaning of each sense unit has been communicated.

Criterion B (Vocabulary & Grammar) assesses how correctly vocabulary and grammar have been
rendered in relation to each sense unit. The term “grammar” here includes syntax and accidence.

As a guideline, criterion A tends to look at the translation as a whole (eg stylistic, literal and idiomatic
meanings conveyed), while criterion B tends to assess the conformity of the single section with the
original text (eg grammatical accuracy of translation, apparent understanding of source language syntax
and vocabulary).

While it may not always be possible to give the full range of marks for a single sense unit, the range of
marks necessary for differentiation is present over the whole exam.

With reference to the beginning of the Xenophon Greek SL passage, the marking of different translations

of the sense unit o0 Bavpalw 611 puev opyileabe, ® &vdpeg otpatidTar is as follows:

e “l am not surprised that you are angry, o soldiers”: A=3, B=3.

e “l am not surprised there is anger, o citizen men”: A=2 (the meaning has been partially
communicated; errors impair the translation), B=3.

¢ “We are not surprised that you would become angry, o soldiers”: A=3, B=2 (some vocabulary and
grammar are rendered appropriately).

e “Anger is among you, soldiers, and | would be unsurprised”: A=2 (the meaning has been partially

communicated), B=1 (limited grammar is rendered accurately).

“We do not understand why you are so sad, o citizens”: A=1 (the translation conveys some meaning),

B=1 (limited grammar is rendered accurately).
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(A) Meaning

How well has the student communicated the meaning of each sense unit?

Marks Level descriptors

0 The work does not reach a standard described by the descriptors below.

The meaning has not been communicated adequately.

1 The translation conveys some meaning; errors impair the translation
significantly.
2 The meaning has been partially communicated.

The translation is mostly logical; errors impair the translation.

The meaning has been fully communicated.
The translation is logical; errors do not impair the translation.

(B) Vocabulary & Grammar

How correctly has the student rendered vocabulary and grammar in relation to each

sense unit?
Marks Level descriptors
0 The work does not reach a standard described by the descriptors below.

Vocabulary and grammar are not rendered adequately.
1 Limited vocabulary is rendered appropriately for the context.
Limited grammar is rendered accurately.

Vocabulary and grammar are rendered adequately despite
inaccuracies.

Some vocabulary is rendered appropriately for the context.
Some grammar is rendered accurately and effectively.

Vocabulary and grammar are rendered correctly.
3 Most vocabulary is rendered appropriately for the context.
Most grammar is rendered accurately and effectively.
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Text A B
1. o0 Bavpdlw 6t pév dpyiteabe, @ &vdpeg oTpaTidTAL

2. Kol vopilete detva maoyewy

3. ¢Eanatwpevol

4. 1jv 8¢ 1@ Buud xaplwpeda

5. kai Aakedatpoviovg Te TOVG TApOVTAG

6. Tig éEamatng Tipwpnowpeda

7. xai TV TOA SlapmacwyeV

8. TV ovdev aitiav

9. &vBupeloDe & Eotat €vredbev

10. moAéuiol pév éodpeda amodederypévol

11. Aaxedaipgoviolg kai TOIG CUHHAYOLG

12. olog 8¢ moAepog dv yévolro

13. eikd(ewv 8n ndpeoTv

14. ¢opaxotag kai avapvnobévrtag

15. 1a vdv 81| yeyevnuéva

45 | 45

Total 90
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Answer all questions on three extracts taken from two options studied.
Option A: Homer

Extract 1 Homer, lliad 16.364-382

@G 8’ 6T &’ OvAvUTOL VEQOG EpXETAL OVPAVOV ElOW

365 aifépog €k Oing, Ote Te Zevg Aaithama teivy,

G TOV €k V@V YEVeTO laxn Te OPog Te,

o0d¢ kata poipav mépaov maAw. “Extopa & tnmot
Ekpepov wkOT0dEG oLV TeLXEDL, Agime O& Aaov
Tpwikov, oVg dékovTag OpLKTH TAPPOG EPUKE.

370 mOAAOL S’ év TAQpw EPLOAPHATEG WKEEG (TTTTOL
d€avt’ &v mpwtw pupud Aimov dppat’ AvakTwy,
[TatpokAog 6’ €meto o@edavov Aavaoiot keAebwv
Tpwol kakd povéwv- ol 8¢ laxf Te POPw Te
ndoag mAfoav 6800g, Emel &p Trayev: VYL O™ AéAAn

375 okidvad’ vmo vepéwv, TavvovTo 6¢ HwVVxeG (oL
dyoppov PoTi A0TL VEDV Ao Kal KALOLAwWV.
[Tatpoxlog &’ 1) mAeioTov dpvopevov ide Aadv,

T p’ €Y’ OpokAnoag vmo 8 dfoot pwTES EMUTTOV
npnvéeg €€ oOxéwv, Sigpot & dvakvpParialov.

380 avtikpd & dpa Tdppov EpHopov wkéeg tnmot
auppotot, odg IInARi Oeol dooav aylaa dwpa,
npooow iépevol, £mi 6’ "Extopt kékheto Qupodg:

1. (@) @wgd o1 ... teivn (lines 364-365). Describe what is evoked by this simile and how it

relates to this extract. [4]
(b) Translate “Extopa §’ tmot ... €puke (lines 367-369). [3]
() Scan okidvab’ ... kAioldwv (lines 375-376). [2]

(d) Give three ways in which the portrayal of Patroclos in this extract is characteristic of his
portrayal in the prescribed reading from book 16. [3]

(e) Give three ways in which wkéeg tnmot duppotot (lines 380-381) are significant for
this extract. (3]
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Option A: Homer

Extract 2

(d)

(e)

Homer, lliad 16.46—63

G @&t AlooOUEVOG HEYa VATILOG: 1) Yap EpelAey
ol avT® Bavatov te kakov Kai kijpa Artéobat.
Tov ¢ ey’ ox0noag mpooéen mddag kLG AxtANelg:
“@ pot Sroyeveg IatpokAeeg olov Eetmeg:

50 ovte Beompoming éumalopat v Tiva oida,
oUTE Ti ot Tap Znvog Eméppade mOTVIA UITNp-
AANG OO aivov dxog kpadinv kal Bupov ikdavel,
onnote 81 TOV Opoiov avip €0EAnoLv auépoat
Kal yépag &y apeléobat, 6 te kpatei mpoPePrxn:

55  aivov dxog to poi €oTwy, émet mdbov dAyea Qupd.
KovpnV fiv dpa pot yépag £Eelov vieg Axatdv,
Sovpl &’ ud kTedTIOoN TOALY EVTEIKEQ TIEPTAG,
TV Ay €k Xelp@v €Aeto kpeiwv Ayapépvwv
Atpeidng wg el TtV ATipnTOV peTAvAoTNVY.

60  &AN& TG pev mpotetvxOat €doopev: o0d’ dpa TwG v
domepxeg kexoAwoOal €vi gpeoiv- fjtol Epnv ye
oV TIPLV UNVIOUOV KaTamavoeUey, AAN" OToOT™ dv O
Vg Epag agikntat aOTH Te TTOAENOG TE.

Set the context of Achilles’s monologue: to whom is he speaking? For what reason(s)?  [3]

Translate &g @ato ... AxiAAebg (lines 46-48).

[3]

Give two motivations expressed by Achilles in lines 50-55 and set each of them in its

context. Quotation of the Greek text is not required.

Kovpny ... mepaag (lines 56-57). What is the name of koUpn, what city did Achilles

sack to win her, and where is that city?

fitot €pny ye ... toAenog te (lines 61-63). To whom did Achilles say this and in
which situation?

[4]

3]

[2]

Turn over
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Option B: History

Extract 3 Herodotus, 1.77.9-78.2

(d)

(e)

Kal O pev Tadta ppovéwy, e AmikeTo £¢ TAG ZAapdLg, EMEUNE KIPLKAG KATA TAG CLHHayiog
TPOEPEOVTAG £G TIEUTITOV Ufjva oVAAEYeaBat £ Zapdig: TOV 6¢ TapedvTa Kol LAXETAUEVOV
otpatov [Téponot, 66 Qv avtod Eetvikdg, mavta dmelg Steokédaoe ovdapd EAmticag W Kote dpa
aywviodpevog oVtw mapaminoiwg Kdpog élaon éni Zapdig. tadta émheyopévew Kpoiow 10
TPOAOTELOV TIAV 0@iwV EVEMANOON: QavéVTwV 8¢ aVTAV ol (oL HETIEVTES TAG VOUAG VEpeaBat
@ottéovteg katrodov. idovtt 6¢ tovto Kpoiow, dhomep kai v €doe tépag elvat avtika 6¢
Eneune Oeompomoug € TV EEnynTéwy TeAunocéwv. amkopévolot 8¢ toiot Oeompomolot kal
HaBodot mpog Tehunooéwv 1o Bélel onuaively 10 Tépag, ovk €eyéveto Kpoiow dmayyeilat mpiv
yap fj Omiow o@éag avamd@oat € Tag Zapdig fidw 6 Kpoioog.

To whom were Croesus’s heralds sent? Describe what they said, giving three details
from the text. Quotation of the Greek text is not required. [4]

Describe the omen related in this extract, and give the interpretation related by

Herodotus (in the section following this extract). [4]
Translate dmkopévolot 8¢ ... dmayyeilat (lines 7-8). [3]
mipiv yap ... 0 Kpoioog (lines 8-9). By whom was Croesus captured and where? [2]

Who are the Telmessi and what are they skilled at? [2]
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Option B: History

Extract 4 Herodotus, 1.117.1-4

10

(@)

(b)

(c)

(d)

(e)

Aotvayng 6¢ tod pev fovkorov Ty aindeinv ékgrvavtog Adyov 1jdn kai éAacow €motéeTo,
Apmdyw O¢ xal pHeyAAwg HEHPOUEVOG KAAEELY aDTOV TOVG dopu@opovg Ekéeve. WG O¢ ol
napfiv 6 Apmayog, elpeto gy 6 Aotvdyng “ Apmaye, Téw 8 pOpw TOV maida KATEXPTIOA0 TOV
Tot tapédwka €k Buyatpog yeyovota TG Euig;” 6 8¢ Apmayog wg eide OV fovkorov Eviov
£0VvTa, ov Tpémetal émi Yevdéa 000V, tva un édeyxopevog aliokntat, AN Aéyet Tdde.

“@ Baotled, eneite mapélaPov 1O matdiov, EBovAevov okoTEWV GKWG 0OL TE TTOLOW KATA
VOOV, Kal £Y® PG 0 YIVOUEVOG AvapaptnTog unte Buyatpl T off Urite avT® ool inv
avBévtng. motéw 81 @de: kaléoag TOV fovkolov TOvIe mapadidwput TO Tatdiov, PAag o€ Te
elvatl TOv kehevovta dmokteival adTo. Kai AEywv ToDTO ye ok EYeudounv: ov yap évetéAleo
obtw. mapadidwut pévrot T@de katd Tade Evrelldpevog, Oeival v &g €pnuov dpog kal
TAPAUEVOVTA QUAACTELY dxpL 0D TeAeVTNOT, AmelAoag mavTtoia T@de fjv un tade émreléa
nowon.”

Give three examples from the text of ways in which the lonic dialect is distinct from
the Attic. [3]

Describe Harpagus’s relationship to Astyages and give one detail about him learned in
the prescribed reading from book 1 of the Histories. [2]

Translate @ Baot\ed ... einv avBéving (lines 6-8). [3]

Describe why Harpagus was unwilling to kill the child himself, and what steps he took
to ensure the king’s orders were nevertheless carried out. [4]

Briefly assess, giving relevant examples from the prescribed reading, how this extract
fits into the broader Herodotean narrative of Cyrus’s rise to the throne. [3]

Turn over
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Option C: Tragedy

Extract 5 Euripides, Electra 25-42

25 émel 8¢ kal ToDT’ v goOPov moAhod mAtwv,
1 Tw AaBpaiwg Tékva yevvaiw tékol,
KTavelv o@e fovAedoavTtog, OHOPPwV SUwG
unTnp viv ééowoev AlyioBov xepog.

&G pev yap dvdpa okfyty ey’ OAwloTa,

30 maidwv § €deloe pr pBovnbein ovw.
¢k T@VOE O TOOVY™ gunxavroato
AtytoBo¢: 66 pev yijg annAlaxon euyag
Ayapépvovog maig, xpuoov eigp’ 6G dv ktavn,
fuiv 8¢ 6n Sidwoy ‘HAéxtpav Exetv

35  dapapta, matépwv puev Muknvaiwv dmo
YeY@otv — o0 81y To0TO Y é€ehéyyopat:
Aapmpot yap €6 Yévog ye, Xpnpdtwv 8¢ 61
névnteg, Evhev nbyével’ dnoAAvtal -
wg doBevel Sovg aoBevi) AaPot pofov.

40 el ydp viv Eoxev aiop” Exwov avip,
ebdovT’ &v eEnyelpe TOV Ayapépuvovog
@ovov Oikn T’ dv RABev AlyioBw TtoTe.

5. (a) £mei 6t ... téxkol (lines 25-26). What did Aegisthus fear and why? [3]
(b) Translate untnp ... eovw (lines 28-30). [3]

(c) Who is speaking in this extract? Give three details about him from the text. Quotation
of the Greek text is not required. [4]

(d)  Who stopped Aegisthus from killing Electra and why? [3]

() Scan ebdovt’ ... 1OT1e (lines 41-42). [2]
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Option C: Tragedy

Extract 6

(b)

(c)

(d)

(e)

Euripides, Electra 82—-101

[TvAadn, o¢ yap On mp@Ttov dvipwmwy Eyw
ToTOV Vopilw kai ilov EEvov T époi:
1ovog 8° Opéotnv tovd’ é0avpales gilwv,

85 mpdooovl’ a mpacow Seiv’ v’ AlyioBov mabwv,
6G pov KatékTa matépa — X1 avwiedpog
uATnp. a@iypar §’ ék Beod pootnpiwv
Apyeiov 008ag 0vdevog EuveldoTog,

@OVOV PovedoL Tatpog AANGEwY EpoD.

90  vukTOG 8¢ THodE TPOG TAPOV HOAWV TTATPOG
Sdkpud T’ ESwka kal kOUNG dmmp&apnv
opd T énéogal’ ailpa pnleiov govov,
Aabwv Tvpdvvoug ol kpatodaot THode Yiis.
Kal TEXEWV PEV EvTog ov Paivw moda,

95  dvotv & dulav EuvtiBeig dgkopny
TPOG Téppovag yig THod, v’ éxPalw modi
ANV € aiav, €l pé i yvoin okom@v,
MT@V T &OeA@N V- Qaot Ydp Vv €V YAUOLG
CevxOeioav oikelv 00d¢ mapOevov pévery:

100 @G ovyyévwpat kai ovov Euvepydrtiy
Aapav td Y’ elow Teéwv capds pabw.

Scan TTvAddn ... époi (lines 82-83).

¢k Beod pootnpiwv (line 87). What kind of place has the speaker come from, and to
what god is it sacred?

Translate vuktog 6¢ ... Tfode yig (lines 90-93).

Qaot yap ... pabw (lines 98-101). What information does the speaker have about
Electra, and how does he propose to check its validity?

Whom does Orestes hope to meet on the road, and whom does he actually meet?
How is this encounter significant for the unfolding drama?

[2]

[2]

[3]

[4]

[4]

Turn over



Option D: Agon

Extract 7
7. (a)
(b)

(e)

-8- SPEC/2/GREEK/SP2/ENG/TZ0/XX

Sophocles, Antigone 80-99

80 AN.

85

90

95

To whom do the words adeAp® @iAtatw (line 81) refer? Give one detail about him.

Outline the positions of Antigone and Ismene relative to two issues where the contrast

2.

AN.

2.

AN.

2.

AN.

2.

AN.

2.

AN.

2.

is more marked.

oL pev 1ad’ &v mpodyol- £yw &g O tagov
XWo0Vo™ AGEAQD PIATATW TOPEVTOHAL.
oipot Takaivng, wg vrepdédotkd oov.

() ‘pod mpotdpPel TOV 0oV EE0pHov moTHOV.
AN" 0DV TTpopun VYOG Ye TOUTO Undevi
ToUpyov, kpuef) 8¢ kedbe, oLV & abtwg Eyw.
oipot, katavda- ToANOV €xOiwv €oel

oy®do’, €av pn maot knpv&ng tade.

Oeppunv €mt Yyoxpoiot kapSiav Exelg.

AN’ 018’ dpéokova’ oig udAto8’ adelv pe xpn.

el kai Suvrjoet y’+ AAN” apnxavwv €pag.
ovkodv, dtav On un 08évw, temadoopat.
apxnv 8¢ Onpav od mpémel Tdpnxava.

el TabTa Aé€etg, éxBapel pev €€ €pov,

gx0pa 8¢ T@® BavovTtL mpookeioet Siky).

AN €a pe kai T €€ €pod SuoPovhiav
nabetv TO detvov TodTo: Melcopal yap o
T0000TOV 0088V DO TE Ui 00 KAA®G Oavelv.
AN’ el Sokel oo, otelye: TodTO & 1007 OTL
dvoug pev €pxet, Toig @iloig 6 0pOG PiAn.

Scan oipot ... tade (lines 86-87).

Referring to lines 95-99, give two Greek words which describe in negative terms

Antigone’s resolution, and explain the reason of this criticism.

Using four examples from the whole extract, illustrate the feelings of Ismene towards

Antigone.

(2]

[4]

[2]

[3]

[4]
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Option D: Agon

Extract 8 Lysias, On the Murder of Eratosthenes 47-50

10

(@)

(b)

(c)

(d)

(e)

gy pév ovv, @ dvdpeg, ovk idiav OTEp épavtod vopilw tadtnv yevéoBat Ty Tipwpiav, AAN’ Omép
TG TOAEWG AAoNG: ol Yap ToladTA TIPATTOVTEG, OpDVTEG ola Td ABAa TTPOKELTAL TOV TOLOVTWV
apaptnudtwy, RTTOV €ig Tovg AANOVG E§apaptroovTat, v Kai DPAG OpDOL THV adTHV YyVOUNV
gxovtag. ei 8¢ pr), TOAD KAAALOV TOUG HEV KeEUEVOUG VOpOVG E§alelyal, £Tépoug 8¢ Beival, oltiveg
TOVG HEV QUAATTOVTOG TAG £AVTAOV yuvaikag Taig {nuiatg {nuuwoovaot, Toig §¢ BovAopévolg ig
avTAG AUAPTAVELY TOAANV ddetav ot oovot. TTOAD yap oUTw StKaldTEPOV fj VIO TOV VOV TOVG
noAitag €vedpeveaBat, of kehevovat pév, Eav Tig poxov AP, 6 Tt &v odv PovAntat xpijoOat, oi

&’ aydveg detvotepol Toig Adikovpévolg kaBeoTKaoLY fj TOIG Tapd TOVG VOUOLG Tag dAANoTpiag
KATALOXVUVOLOL yuvaikag. £€yw yap vOv Kal tept TOD OWHATOG Kal TIEPL TOV XPNHATWYV Kal TEPL TOV
AV amavtwv kivduvedw, Tt 101G TAG TOAews VOopoLg Emelfouny.

@ &vdpeg (line 1): who is being addressed in this extract? Give two details. Quotation
of the Greek text is not required. [2]

Why should a sentence of acquittal be beneficial not only to the defendant, but to the
whole city as well? [3]

Translate i 8¢ pr ... (pwoovot (lines 4-5). [3]

TOAD Yap ... yvvaikag (lines 6-9). Describe the predominant feeling of the speaker in
this passage and the reason(s) for this. [3]

6TL 101G TG MTOAewg vopolg Emel@ouny (line 10). Describe the juridical context this
sentence is referring to. [4]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, Air, Waters and Places 10

10

(@)

(b)

(c)

(d)

(e)

OKOTAV yap TOD XELDOVOG £6VTOG VOTioL Kal Oeppod ToD OWHATOG i) oLVIOTHTAL O £YKEPANOG
1nde ai pA£Peg, Tod fpog émyevopuévov Bopeiov kai adpnpod kai Yyuxpod 6 Eyképalog, OMnvika
avtov €det dpa kai T@ fpt StakveoBat kal kabaipeaBat HTIO Te KOPVL(NG Kal PpdyxwV, THVIKADTA
Ty vutai te kai ovviotatal, ©ote E§aigpvng Tod Bépeog émyevoEvou Kail ToD KavHATOG Kai TR
HeTAPOARG EmLytvopévng TadTa TA VOOEDHATA ETUTIMTELY. Kol OkOOaAL HEV TOV TOAiwV KéovTal Te
KaA®¢ ToD fAiov kal T@V Tvevpatwy Hdact te xpéovtat dyaboioty, adtat pgv Rocov aioBavovrtal
TOV ToLoVTWV peTaBoAréwv- Okooat 8¢ Ddaoi Te éAeiotot ypéovtal kal Aipvwdeot k€ovTal Te U
KAADG TOV TVELUATWY Kai ToD HAiov, adtatl 8¢ paAAov. Kijv pev to 0€pog avxunpov yévntal,
Bdooov mavovtal ai vodoou fjv ¢ EmouPpov, moAvxpoviot yivovtal kal gayedaivag kivovvog
¢yyiveoBat 4o maong mpo@aotog, fiv €Akog €yyévnrtat. kai Aetevrepial kal VOpwTEG TEAEVTOOL
ToloL vooelpaoty éntyivovtat: ov yap drno§npaivovtat ai kothiat pnidiwg.

okotav ... émmintewy (lines 1-5). Give two examples of the correlation between

seasons and bodily conditions outlined here. [4]
Translate kai 0xooat ... petaporéwv (lines 5-7). [3]
List four circumstances that make a city more prone to diseases. [4]
Describe the effect of a dry summer on diseases. [2]

List the two circumstances that promote the deterioration of sores. [2]
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Option F: Scientific knowledge

Extract 10  Hippocrates, Air, Waters and Places 24

10

10. (a)

(b)

(c)

€velol O¢ kal év Tf] Evpwmn @dla Stapopa €tepa £Tépolot kal Ta peyedea kail Tag Hop@ag kal Tag
avdpeiag. ta 8¢ StalAdooovTa TavTA E0TLy, & Kal €l TOV TpOTEPOV elpnTal. €Tt O¢ capeéoTepOV
PPACW. OKOOOL HEV XWPNV PV Te oikéovot kal Tpnxelav kal VYAV kal Evudpov, kal ai
tetaPolai avtoiot yivovtat Tdv wpéwv péya Stdgopot, Evtadba eikog eidea peydha eivat kai
TPOG TO TaAaimwpov Kai TO avpeiov D meguKOTa, Kai TO Te dyptov kai TO Onptddeg ai Totadtat
@QUOLeG oVY fikloTa Exovaty. 0koool 8¢ koiha xwpia kal Aetpakwdea kal Tviynpda kal T@v Oepudv
TIVELHATWV TAEOV UEPOG HETEXOVOLY T} TOV Yuxp@V Vdaai Te xpéovtat Oeppoioty, ovtol ¢ peyalot
HEV OVK &V einoav o0d¢ kavovial, £¢ eDpog 8¢ TeQUKOTES Kal oapkwdeeg Kol EAAVOTPLXEG, Kol
avtol péhaveg paAAov fj Aevkotepot, Aeypatiat 8¢ fjocov fj xodwdeeg: TO 8¢ avSpelov kai TO
Tahainwpov év Tf] Yuxij eUoEeL HEV OVK &v OpoiwG évein, vOpog 8¢ Tpooyevopevog dmepydlott’ &v.

Translate £velot ... elpntau (lines 1-2). [3]
Identify four kinds of geographical features that affect the physical constitution of men. [4]

Give the Greek words for four character-related traits brought about in men by the
geographical features of the land they inhabit. [4]

Explain the meaning of the terms @Aeyuatiat and xyolwdeeg (line 9). (2]

Explain the meaning of the terms @Voet and vopog (line 10) in this context. [2]
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Option A: Homer

Extract 1

1.

(@)

(b)

(c)
(d)

(e)

Homer, lliad 16.364-382

Award [1] for identification of the simile (cloud/storm); and [1] each up to [3] for any of
the following: storm comes from mountains; Patroclus and the Greek counterattack is
the storm; Trojans are the people fleeing for shelter; warriors usually depicted as
animals but not here.

Any other answer on its merits.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Mark only for length of syllables. Award [1] per line if all correct, no mark otherwise.
Award [1] each up to [3] for any of the following: Patroclus as warrior/hero; Patroclus
thought to be Achilles; Patroclus bringing hope to beleaguered Greeks; Patroclus as
inevitable foe of Hector; Patroclus using Achilles’s weapons, horses, etc.

Any other answer on its merits.

Award [1] each up to [3] for the following: they enable Patroclus to clear a ditch to fight
Trojans; are immortal horses; help convince onlookers that this is Achilles.

Any other answer on its merits.

Total: [15]
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Option A: Homer

Extract 2

2.

(@)

(b)

(c)

(d)
(€)

Homer, lliad 16.46—63

Award [1] for any detail such as the following: he is answering to Patroclus, who was
blaming him for not fighting and asking to have his arms.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Award [1] for each of two motivations expressed in lines 50-55 (eg fear of prophecy,
anger at disrespect), and [1] each for brief comments.

Her name is Briseis [1], from Lyrnessus [1]; in Asia Minor (or similar) [1].

He said this to the ambassadors [1]. Award [1] for any relevant detail such as in Book
9; led by Odysseus; offering him the gifts promised by Agamemnon, etc.

Total: [15]
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Option B: History

Extract 3

3.

(@)

(b)

(€)

(d)
(€)

Herodotus, 1.77.9-78.2

Croesus sent heralds to his allies [1]; they were to send troops [1] to Sardis [1] after an
interval of four months [1].

Award up to [3] for a description of the omen (eg snakes swarm; into outskirts of town;
horses leave fields; horses eat the snakes). Award [1] for interpretation: that the
snakes represent indigenous people of Sardis and the horses an invading army.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Croesus was captured by Cyrus [1] at Sardis [1].

The Telmessi were Lycians (from the city of Telmessus) [1]; they are skilled at
interpreting omens [1].

Total: [15]
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Option B: History

Extract 4

4.

(@)

(b)

(c)

(d)

(e)

Herodotus, 1.117.1-4

Award [1] up to [3] for any appropriate lonic dialect comment (eg so-called contract
verbs not contracted; oo for tT; article forms; « for m in 6xwg, etc.).

Harpagus was a member of a Median royal family thus in service to King Astyages [1];
award [1] each up to [1] for any of the following: was a general; was ordered to Kill
Astyages’ child; betrays Astyages; supports Cyrus.

Any other answer on its merits.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Harpagus did not want to incur blood-guilt for murder [1]; Harpagus took the child to a
shepherd/herdsman [1], made the king’'s wishes known [1], and gave instructions to
expose the child in a remote location [1].

Award [1] up to [3] for any appropriate comment. Possible answers include: Cyrus’s
fate to become king; conflict/rivalry between son and father; divine plan foreshadowed
through omens and signs; fate moving contrary to human expectations.

Total: [15]



-6- SPEC/2/GREEK/SP2/ENG/TZ0/XX/IM

Option C: Tragedy

Extract 5

5.

(@)

(b)

(€)

(d)

(€)

Euripides, Electra 25-42

He feared that Electra would bear a child [1] to a noble father [1] because that child
might seek vengeance [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

The peasant is speaking in this extract [1]; award [1] each up to [3] for the following:
he was given Electra to marry; he is noble-born; but has no power.

Clytemnestra [1]; because she was afraid she would be despised [1] for killing her
children (without cause) [1].

Mark only for length of syllables. Award [1] per line if all correct, no mark otherwise.

Total: [15]
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Option C: Tragedy

Extract 6

6.

(@)
(b)
(c)

(d)

(e)

Euripides, Electra 82-101
Mark only for length of syllables. Award [1] per line if all correct, no mark otherwise.
He has come from a temple precinct/temple [1]; it is sacred to Apollo [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Orestes has heard that Electra is living in Argos [1], is married [1] and is no longer a
virgin [1]; he will find a local and question him about what has happened [1].

Orestes hopes to meet a farm/local labourer on the road [1], but meets Electra [1];
award up to [2] for discussion of recognition scene and/or laying the plan for revenge.

Total: [15]
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Option D: Agon

Extract 7

7. (a)
(b)
()

(d)

(e)

Sophocles, Antigone 80-99
Polynices [1]; son of Oedipus, brother of Eteocles etc [1].

Award [1] each up to [4] for the following: the hint at keeping Polynices’s burial secret
(Ismene) [1] or making it public (Antigone) [1]; or not attempting an impossible task
(Ismene) [1] or carrying it out at any cost (Antigone) [1].

Any other answer on its merits.

Mark only for length of syllables. Award [1] per line if all correct, no mark otherwise.

dvoPovhia (ill-counsel) [1], &vovg (without understanding/foolish), referred to Antigone

[1]. Her resolution goes against the laws of men [1]. Translation of the words is not
required, provided that a satisfactory explanation is given.

Award [1] each up to [4] for the following (quotation of the Greek text is not required):
* she fears for her (bnepdédokd oov)

* is sympathetic/supportive (cOv 6’ adTwg éyw)
* critical (Bepunv émt yoxpoiot kapdiav €xeig etc.)
* respects her decisions (&N’ &i dokel oo, oTEiXE).

Total: [15]


http://www.perseus.tufts.edu/hopper/morph?l=dusbouli%2Fan&la=greek&can=dusbouli%2Fan0&prior=e%29mou=
http://www.perseus.tufts.edu/hopper/morph?l=a%29%2Fnous&la=greek&can=a%29%2Fnous0&prior=o%28/ti
http://www.perseus.tufts.edu/hopper/morph?l=u%28perde%2Fdoika%2F&la=greek&can=u%28perde%2Fdoika%2F0&prior=w%28s
http://www.perseus.tufts.edu/hopper/morph?l=sou&la=greek&can=sou0&prior=u%28perde/doika/
http://www.perseus.tufts.edu/hopper/morph?l=su%5Cn&la=greek&can=su%5Cn0&prior=keu=qe
http://www.perseus.tufts.edu/hopper/morph?l=d%27&la=greek&can=d%272&prior=su%5Cn
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Option D: Agon

Extract 8

8.

(@)

(b)

(c)

(d)

(e)

Lysias, On the Murder of Eratosthenes 47-50

Award [1] for “the judges”; and [1] each for details such as: of the Delphinion;
the law-court; where the cases of justifiable homicide are discussed [1].

Any other answer on its merits.

Because those who act against the law [1] would be less inclined to do so [1] seeing
that the act in question is considered to be a justifiable homicide (or similar) [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

The following three points should be highlighted in the answer: he feels an injustice has
been done to him [1], because the lawsuits [1] do not abide by the laws [1].

Award [1] for any detail such as:
* the Athenian laws

allowed the killing

of a man

caught in adultery

with someone’s wife.

Total: [15]



-10- SPEC/2/GREEK/SP2/ENG/TZ0/XX/IM

Option F: Scientific knowledge

Extract 9

9.

(@)

(b)

(€)

(d)
(€)

Hippocrates, Air, Waters and Places 10

Award [2] each for any of the following correlations:

* Winter with southerly winds: brain and veins hardened/strengthened.

e Spring with northerly winds and dry: brain congealed and hardened.

* Normal spring: brain relaxed and purged by coryza (cold in the head) and
hoarseness.

* Hot summer: diseases such as coryza or hoarseness.

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Bad location with respect to sun [1] and winds [1], use of standing [1] and marshy [1]
waters.

Diseases cease [1] more rapidly [1].
A wet summer [1] and a wound (of any sort) [1].

Total: [15]
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Option F: Scientific knowledge

Extract 10 Hippocrates, Air, Waters and Places 24

10.

(@)

(b)

(€)

(d)

(e)

Award [3] if the meaning has been fully communicated, and vocabulary and grammar
are rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if
the meaning has not been communicated adequately, and vocabulary and grammar
are not rendered adequately. Award [0] if the work does not reach a standard
described by the descriptors above.

Award [1] each for any relevant example such as: altitude of terrain; presence and
guality of water; contrast between seasons; characteristics of winds. Award one mark
only for any couple of contrasting elements (eg ‘high terrain’ and ‘low-lying terrain’).

Award [1] each up to [4] for the following: T0 Talainwpov; TO &vdpeiov; T6 dyplov; TO
Onpddeg. Deduct one mark overall if article is not given and one mark overall for gross
misspelling.

@Aeypatiat: phlegmatic, abundant in phlegm [1]; xoAwdeeg: bilious, abundant in bile [1].

Deduct one mark if it is not clear from the answer that the two terms refer to
humours/fluids in the body.

¢volg: nature and/or environment [1]; vopog: social institutions and/or customs [1].
Accept similar answers.

Total: [15]
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